
unknow

Weingärtner08.08.17

unknow

08.08.17

18001 Weingärtner25.01.18

Buhlinger

AffenschaukelBuhlinger08.08.17

H282_0003 02

ISO 2768 mK
Allgemeintoleranzen

02

Oberflächen
ISO 1302 
Werkstückkanten 
ISO 13715

14
State

D

15

Sheet

13

A

16

C

B

G

E

F

E

12

H

G

II

11

B

K

16

D

3

Abwicklung ausgelegt für: /Unfolded sheet designed for:

L

J

F

A

J

K

9

C

876 10542

9 15

1

13121110 14843 5 7621

L

Name

p
ro

h
ib

it
e

d
. 
O

ff
e

n
d

e
rs

 w
ill

 b
e

 h
e

ld
 li

a
b

le
 f

o
r 

th
e

 p
a

y
m

e
n

t 
o

f 
d

a
m

a
g

e
s.

 A
ll 

ri
g

h
ts

 r
e

se
rv

e
d

 in
 t

h
e

 e
v
e

n
t 

o
f 

th
e

 g
ra

n
t 

o
f 

a
 p

a
te

n
t,

 u
ti
lit

y
 m

o
d

e
l o

r 
d

e
si

g
n

.

S
F 

V
e

rs
io

n
: 
9
.0

H

Th
e

 r
e

p
ro

d
u

c
ti
o

n
, 
d

is
tr

ib
u

ti
o

n
 a

n
d

 u
ti
liz

a
ti
o

n
 o

f 
th

is
 d

o
c

u
m

e
n

t 
a

s 
w

e
ll 

a
s 

th
e

 c
o

m
m

u
n

ic
a

ti
o

n
 o

f 
it
s 

c
o

n
te

n
ts

 t
o

 o
th

e
rs

 w
it
h

o
u

t 
e

x
p

re
ss

 a
u

th
o

ri
za

ti
o

n
 is

 

Scale:

1
   

12.061

1

Z
u

w
id

e
rh

a
n

d
lu

n
g

e
n

 v
e

rp
fl
ic

h
te

n
 z

u
 S

c
h

a
d

e
n

e
rs

a
tz

. 
A

lle
 R

e
c

h
te

 f
ü

r 
d

e
n

 F
a

ll 
d

e
r 

P
a

te
n

t-
, 
G

e
b

ra
u

c
h

sm
u

st
e

r-
 o

d
e

r 
G

e
sc

h
m

a
c

k
sm

u
st

e
re

in
tr

a
g

u
n

g
 v

o
rb

e
h

a
lt
e

n
.

CAD  DIN

sub.f.:

Author

Customer:

Solidworks 2017

Drw.Cust.:x DrwIndexCust.:

A1

Abmessung: /Dimension:

sub. by.:

Revision Date

1:10

Date

Checked 2D

Name

Mass: [kg]

Sh

Checked 3D

W
e

it
e

rg
a

b
e

 s
o

w
ie

 V
e

rv
ie

lf
ä

lt
ig

u
n

g
 d

ie
se

s 
D

o
k
u

m
e

n
ts

, 
V

e
rw

e
rt

u
n

g
 u

n
d

 M
it
te

ilu
n

g
 s

e
in

e
s 

In
h

a
lt
s 

si
n

d
 v

e
rb

o
te

n
, 
so

w
e

it
 n

ic
h

t 
a

u
sd

rü
c

k
lic

h
 g

e
st

a
tt

e
t.

 

In
d
e
x

A

A

DIN933 M6x16 8.8 A2J
Sechskantschraube

DIN933 M6x16 8.8 A2J
hex screw

DIN9021 6,4 200HV A2J
washer 

B-B (2 : 1)

Sechskantmutter
DIN934 M6 A2
hex nut
DIN934 M6 A2

Scheibe 
DIN9021 6,4 200HV A2J

Abhängedraht
hanging wire

DIN125 8,4 140HV A2
washer 
DIN125 8,4 140HV A2
Scheibe 

DIN934 M8 A2
hex nut
DIN934 M8 A2
Sechskantmutter

A-A (1 : 1)

Scheibe 
DIN9021 8,4 200HV A2J
washer 
DIN9021 8,4 200HV A2J

Gewindestange
DIN976 M8 
threaded rod
DIN976 M8

Sechskantmutter
DIN934 M8 A2

anchor 
M8x30

hex nut
DIN934 M8 A2

Dübel 
M8x30

Rohdecke
bare ceiling

Sechskantmutter
DIN934 M8 A2
hex nut
DIN934 M8 A2

Scheibe 
DIN125 8,4 140HV A2
washer 
DIN125 8,4 140HV A2

Winkelschiene
H201_0003 01
angular rail
H201_0003 01

B

B


